Installation Instructions
VESA Mounting Kit and
Diagram for Hope Industrial
Universal Mount Monitors

= \WWE

VESAMOUNTING
PATTERN
(100 mm x 100 mm)

MOUNTING PLATE e« UNIVERSAL
\- “ MOUNT
=1 f— MONITOR

(=3 |

f:ll 1
M4 SCREWS \/

RUBBER
NYLON WASHERS
WASHERS

KEYBOARD
(OPTIONAL)

1. Refer to the drawing above.

2. Remove and discard the four screws and washers that are currently installed in the VESA mounting pattern on the
rear of the Universal Mount monitor.

3. Install the VESA Mount using the provided four M4 screws, Nylon Washers, and Rubber Washers. There should
be one Nylon Washer under each M4 screw head, and one Rubber Washer on each M4 screw on each side of the

Mounting Plate.
NOTE: If using alternative screws, ensure they do not protrude into the enclosure more than 1/2" (12.7 mm).

99034D » December 20, 2022 « www.Hopelndustrial.com « International: +1 (678) 762-9790 « UK: +44 (0) 20 7193 2618 « © 2024 Hope Industrial Systems, Inc.




